1. What international organization protects its member states by agreeing that an attack on one of them will be considered as an attack upon all? (Canada is a member)

00000000000 | cender | AGE EDUCATION

H |

A B C D E F G
Base: All Respondents (unwtd) 1025 491 534 274 401 350 49 180 453 343
Base: All Respondents (wtd) 1025 498 527 280 348 397 105 360 402 158
61 21 40 19 25 17 8 22 25 6
NAFTA 6% 4% 8% 7% 7% 4% 7% 6% 6% 3%
*
448 176 272 126 155 168 43 163 181 61
The United Nations 44% 35% 52% 45% 44% 42% 41% 45% 45% 38%
A *
414 261 153 81 146 188 33 126 172 83
NATO 40% 52% 29% 29% 42% 47% 32% 35% 43% 52%
B C C * FGH
35 17 18 16 7 11 9 16 8 2
NASA 3% 3% 3% 6% 2% 3% 8% 5% 2% 1%
D HI* |
- 1 - - - - -
SPECTRE * * - * - - - - * -
*
28 7 21 13 10 5 5 12 7 3
Justice League 3% 1% 4% 5% 3% 1% 5% 3% 2% 2%
A E *
38 15 23 24 6 8 7 20 7 4
The League of Nations 4% 3% 4% 8% 2% 2% 6% 6% 2% 3%
DE * H
1025 498 527 280 348 397 105 360 402 158
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B,C/D/E,F/G/H/|
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B,C/D/E,F/G/H/|
Minimum Base: 30 (**), Small Base: 100 (*)
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